
  

OCTOBER 2012 P/ID 101/PXM 

Time : Three hours Maximum : 100 marks 

Answer ALL questions in about 1200 words each. 

All questions carry equal marks. 

 (5 × 20 = 100) 

1. (a) Explain the nature and scope of organisation 

theory. 

   Aø©¨¦U ÷Põm£õmiß C¯À¦ ©ØÖ® ÷|õUøP 
ÂÍUS. 

Or 

 (b) Describe the principle of span of control and 

its limitations. 

   Pmk¨£õmk Ãa_ öPõÒøPø¯ ÂÍUQ, Auß 
GÀø»PøÍ ÂÁ›. 

2. (a) What is scientific management movement? 

Explain. 

   AÔÂ¯À ÷©»õsø© C¯UP® GßÓõÀ GßÚ? 
ÂÍUS. 

Or 

 (b) Point out the criticisms against classical 

theory of organisation theory. 

   ©µ£õº¢u Aø©¨¦U ÷Põm£õk £ØÔ TÓ¨£k® 
Psh[PøÍU SÔ¨¤kP. 
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3. (a) Bring out the different types of organisation. 

   Aø©¨¤ß £À÷ÁÖ ÁøPPøÍ Áøµ¯Ö. 

Or 

 (b) Discuss the position and functions of middle 

level management. 

   Cøh{ø» ÷©»õsø©°ß {ø» ©ØÖ® 
£oPøÍ ÂÁõv. 

4. (a) Examine the different kinds of leadership 

and its merits. 

   uø»ø©°ß £À÷ÁÖ ÁøPPøÍU SÔ¨¤mk 
AÁØÔß |ßø©PøÍ B´P. 

Or 

 (b) Write an essay on organisational control. 

   Aø©¨¤ß Pmk¨£õk £ØÔ J¸ Pmkøµ GÊx. 

5. (a) Analyse the features of organisational 

effectiveness. 

   Aø©¨¤ß vÓ®£õmiß A®\[PøÍ¨ 
£S¨£õ´P. 

Or 

 (b) Estimate the relation between organisation 

and society. 

   Aø©¨¤ØS® \‰PzvØS•ÒÍ öuõhº¤øÚ 
©v¨¤kP. 
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